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Section : Part-A-General Intelligence and Reasoning

Q.1 If ‘+’ means ‘+’, ‘+’ means ‘-, ‘-’ means ‘%’, and ‘x‘ means ‘+’. Which of the following will
be the value of the expression?
32+64+8-5x36

Ans X 1.32
£ 2.38
< 3.30
W 4.28

Question ID : 264330114189
Status : Answered
Chosen Option : 4

Q.2 In a certain code language,’ Tango is dance' is written as 'de be le', 'dance is practice’

is written as ‘'le be ke' and 'let’s dance’ is written as 're le'. How will 'practice’ be written
in that language?

Ans X 1.le
o’ 2. ke
& 3.be
X 4.de

Question ID : 26433070328
Status : Answered
Chosen Option : 2
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Q.3

Ans

Select the option figure which is embedded in the given figure. (Rotation is

NOT allowed)
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Question ID : 26433085748
Status : Answered
Chosen Option : 4
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Q.4 Six persons H, R, J, S, N and B are sitting in a row facing North. B is not sitting beside Your Personal Exams Ghide
J, who is sitting at the extreme right. H is the immediate neighbour of N and B. N is not
sitting beside S and J. R is the immediate neighbour of S and J. Who is sitting to the
immediate right of B?

Ans X 1.H
X 2.
3.5
X 4.N

Question ID : 26433079064
Status : Answered
Chosen Option : 3

Q.5 Which of the following numbers will replace the question mark (?) in the given series?
7,21, 25,7?,131,917

Ans X 1.105

X 2.115
% 3.120
o 4.125

Question ID : 26433069082
Status : Answered
Chosen Option : 4

Q.6 Which of the following numbers will replace the question mark (?) in the given series?
3, 7,27, 44, 63, 86, 115

Ans #1.14
X 2.17
< 3.19
X4

Question ID : 26433090060
Status : Answered
Chosen Option : 1
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MN as shown below.
M

29 g U0 6Q T

N

< LQH UGS
< TLOYITL RS
Lo uUGes
< 1LY UTGHIT

Ans

Q.7 Select the correct mirror image of the given figure, when the mirror is placed at
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Question ID : 26433090148

Status : Answered
Chosen Option : 3
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Ans

Q8 Which figure should replace the question mark (?) if the series were to be

continued?
5 X D|¥% V % VI[X D N
L O N|N 3 L Hil 2 3
O v %|D X D X|v %W S
F .8 D
x+|N O Z
3 vV Y
S X N
X2 |Z 3 N
O Vv %
F X D
&3 |2 3 N
O v %
5 ar M
X4 |3 F o[
N D X
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Question ID : 26433076629
Status : Answered

Chosen Option : 2

Ans

X 1.K
o 2. M
< 3.N
X 4L

Q.9 Which of the following letters will replace the question mark (?) and complete the
following letter series?
,K,0,U,C,?

Question ID : 26433067291
Status : Answered

Chosen Option : 2
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Q.10 Three statements are given, followed by three conclusions numbered |, Il and Ill. Your Personal Exams Ghiide
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

No carrots are beets.

Some carrots are gingers.
Some gingers are beets.
Conclusions:

I. All beets are gingers.

Il. Some gingers are carrots.
lll. Some beets are carrots.

Ans X 1. Only conclusions Il and Il follow
#< 2. All conclusions follow
& 3. Only conclusion Il follows

< 4. Only conclusions | and Il follow

Question ID : 26433090999
Status : Answered
Chosen Option : 3

Q.11 Select the option that is related to the fourth term in the same way as the first term is
related to the second term and the fifth term is related to the sixth term.
625:35::?:27::361:29

Ans X 1.121
< 2.100
X 3.256
o 4. 289

Question ID : 26433074550
Status : Answered
Chosen Option : 4

Q.12 Which two signs should be interchanged to make the below equation mathematically
correct?

18+72+12%x36-12=132
Ans X 1.+and-

X 2.xand +
X 3. +and-
o 4. xand +

Question ID : 264330117565
Status : Answered
Chosen Option : 4
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Q.13 Which letter cluster will replace the question mark (?) to complete the given series?
WGVQ, CWHY, ?, OCFO, USRW

Ans 1. IMTG
< 2. HWBT
/< 3. TDGT

< 4.0SXG
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Question ID : 26433079428

Status : Answered

Chosen Option : 4

Q.14 In a certain code language INVADE is written as ‘LRYEGI’ and CATER is written as
‘FEWIU’. How will WIRING be written in the same code language?

X 1.zZMVMQL
# 2. ZNUNQK

Ans

X 3.ZMVMQK
o 4. ZMUMQK

Question ID : 26433076684

Status : Answered

Chosen Option : 4

Q.15 Select the option that is related to the third word in the same way as the second word
is related to the first word.
(The words must be considered as meaningful English words and must NOT be related
to each other based on the number of letters/number of consonants/vowels in the
word)
Army : Land :: Navy : ?

X 1. Desert
< 2. Forest

Ans

o 3. Water
5 4. Mountain

Question ID : 26433087196

Status : Answered

Chosen Option : 3

Q.16 Seven people Z, H, B, W, S, R, and G are sitting in a straight row, facing north. Only

two people sit to the left of S. Only two people sit to the right of H. Only H sits between
G and Z. Only S sits between W and G. B sits at the extreme right of the row. Who sits
at the extreme left of the row?

X 1w
& 2.R
X 3.s
X4z

Ans

Question ID : 26433092598

Status : Answered

Chosen Option : 2
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Q.17

Ans

‘A =B’ means ‘A is the son of B’

‘A * B’ means ‘A is the mother of B’

‘A % B’ means ‘A is the husband of B’

‘A $ B’ means ‘A is the sister of B’

If ' X$D=M*N’, then how is M related to X?

< 1. Daughter

w¥ 2. Mother

X 3. Sister

/5 4. Paternal grandmother

Your Personal Exams Glide

Question ID : 26433087129
Status : Answered
Chosen Option : 2

Q.18

Ans

Two different positions of the same dice are shown having numbers | to 6. Find the number on the face

opposite the face showing *1°.

X 1.4
x 23
X 3.2
o 4.6

Question ID : 26433085518
Status : Answered
Chosen Option : 4

Ans

Q.19 Which option represents the correct order of the given words as they would appear in

the English dictionary?
1 Train

2 Truck

3 Transport

4 Travel

5 Trade

o 1.51342
X 2.5314,2
% 3.5431,2
X 4.51423

Question ID : 26433069277
Status : Answered
Chosen Option : 1
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Q.20 Select the option that is related to the third word in the same way as the second word Your Personal Exams Ghiide
is related to the first word.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/ number of consonants / vowels in the
word)
Labourer : Spade :: Sculptor : ?

Ans X 1.Axe

& 2. Chisel
X 3. Sword
< 4.Pen

Question ID : 26433068054
Status : Answered
Chosen Option : 2

Section : Part-B-General Knowledge and General awareness

Q.1 Which of the following is a secondary sector activity?
Ans X 1. Mining

75 2. Forestry
«" 3. Manufacturing

75 4. Quarrying

Question ID : 264330116093
Status : Answered
Chosen Option : 3

Q.2 What are Kho-Kho players sitting in the squares called?
Ans X 1.Runners

5 2. Active Chaser
" 3. Chasers
/5 4. Blockers

Question ID : 26433092333
Status : Answered
Chosen Option : 4

Q.3 Which two categories of age group are considered in Khelo India Youth Games?
Ans X 1.Under 14 and Under 21

& 2. Under 17 and Under 21
#< 3. Under 17 and Under 25
#5 4. Under 17 and Under 14

Question ID : 264330115960
Status : Answered
Chosen Option : 2
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Ans

Q.4 Kelucharan Mohapatra was related to which classical dance form?

< 1. Manipuri
X 2. Kathakali
75 3. Sattriya
¥ 4. Odissi

Your Personal Exams G

lide

Question ID : 26433072928
Status : Answered
Chosen Option : 4

Q.5

Ans

the then Minister of Agriculture had been a key person in bringing the new

agricultural technology to India under Green Revolution

5 1. MV Rao

&* 2. C Subramaniam
#< 3. Benjamin Peary Pal
X 4. MS Swaminathan

Question ID : 26433054804
Status : Answered
Chosen Option : 2

Ans

Q.6 The council of ministers in a state are appointed on the advice of the

< 1. President

«” 2. Chief minister

75 3. Chief justice of High Court
X 4. Governor

Question ID : 26433089188
Status : Answered
Chosen Option : 4

Ans

Q.7 GNP stands for

& 1. gross national product
X 2. gross negligence product
75 3. gross net product

X 4. gross null product

Question ID : 264330115352
Status : Answered
Chosen Option : 1

Ans

Q.8 Who among the following is related with Mohiniyattam?

/5 1. Manjit Bawa
X 2. Ratan Thiyam
«” 3. Kanak Rele
75 4. Shanti Dave

Question ID : 264330115895
Status : Answered
Chosen Option : 2
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Q.9 How is the vegetation affected by construction of large dams? Your Personal Exams Ghiide

Ans X 1.The plants produce nodules to produce nitrogen-fixing bacteria.
X 2. Vegetation gives rise to oxygen under aerobic conditions.
75 3. The growth of fungus is a lot.

& 4. The submerged vegetation rots under anaerobic conditions and gives rise to large
amounts of methane, which is also a greenhouse gas.

Question ID : 26433087838
Status : Answered
Chosen Option : 4

Q.10 Which among the following Union Ministers of India inaugurated the 25th National
Conference on e-Governance (NCeG) held in Katra, Jammu & Kashmir in November
20227

Ans X 1.Arjun Munda
< 2. Piyush Goyal
Z< 3. Pralhad Joshi
o 4. Jitendra Singh

Question ID : 264330114908
Status : Answered
Chosen Option : 4

Q.11 NITl is abbreviation for
Ans X 1. National Institution for Transferring India

75 2. National Institution for Telecommunication India
#< 3. National Invention for Transforming India

& 4. National Institution for Transforming India

Question ID : 264330115374
Status : Answered
Chosen Option : 4

Q.12 Ghiyasuddin Balban ruled in India in which of the following period?
Ans X 1.1206-1210

X 2.1235-1265
o 3. 1266-1287
X 4.1211-1240

Question ID : 264330115446
Status : Answered
Chosen Option : 3
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Q.13 Which project is built for hydel power production and irrigation in the Sutlej river
basin?

Ans X 1. Nagarjuna project

25 2. Hirakud project

&" 3. Bhakra Nangal project
75 4. Sardar Sarovar dam

Question ID : 26433091496
Status : Marked For Review
Chosen Option : 1

Q.14 Which among the following started “Bharat Jodo Yatra” in September 2022?
Ans  # 1. Rahul Gandhi

X 2. Amit Shah
X 3. Akbaruddin Owaisi
< 4. Arvind Kejriwal

Question ID : 264330114889
Status : Answered
Chosen Option : 1

Q.15 The Non-Cooperation-Khilafat Movement began in January
Ans X 1.1925

X 2.1928
o 3. 1921
X 41911

Question ID : 26433089899
Status : Answered
Chosen Option : 1

Q.16 When governments legally obliged food producers to add extra nutrients to particular
foods or categories of foods it is called .

Ans  # 1. food fortification
X 2. food protection
#< 3. food adulteration
X 4. food packaging

Question ID : 264330115266
Status : Answered
Chosen Option : 1
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Q.17 Which among the following festivals is also celebrated to remember King Mahabali in
Kerala?

Ans  # 1. Onam
< 2. Vishu
< 3. Ugadi
/5 4. Puthando
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Question ID : 264330115094

Chosen Option : 3

Status : Answered

Q.18 Fundamental Rights was borrowed from the Constitution of .
Ans X 1. United Kingdom

X 2. South Africa
< 3. Germany
" 4. The United States of America

Chosen Option : 4

Question ID : 26433089957
Status : Answered

Q.19 Who took over as the new President of India International Centre (lIC) in June 20227
Ans " 1. Shyam Saran

#< 2. Karan Singh

75 3. Narinder Nath Vohra

< 4. Kamaladevi Chattopadhyaya

Chosen Option : 4

Question ID : 264330115055
Status : Answered

Q.20 Which technology is used by doctors to advise his patients sitting at a distance of
thousands of kilometers from them?

Ans  # 1. Tele-Medicine
X 2. Tele-Selling
< 3. Tele-Commerce

X 4. Tele-Porting

Chosen Option : 1

Question ID : 264330115599
Status : Answered

Section : Part-C-Elementary Mathematics
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Q.1 Three milk bottles of 1 litre, 750 millilitres and 650 millilitres with milk percentage Your Personal Exams Gliide
respectively 45%, 50% and 60% are emptied in a same container simultaneously. What
is the percentage of milk in the mixture?

Ans 1 50.625%
X 2. 52.625%
X 3. 56.225%

X 4 55.625%

Question ID : 26433081704
Status : Answered
Chosen Option : 1

Q.2 The area of a triangle whose base and corresponding height are, respectively, 3.2m
and 75 cm, is:

Ane X1 3m?
X2 2pm?
v3 12w
X4 25m?

Question ID : 26433075508
Status : Answered
Chosen Option : 3

Q.3 A dealer marks his goods 30% higher than their cost price. In order to sell his goods at
a no profit no loss basis, what discount percentage should he allow (correct up to 2
decimal places)?

Ans X 1.25.25%
o 2.23.08%
X 3.12.28%
X 4.28.08%

Question ID : 26433083043
Status : Answered
Chosen Option : 2

Q.4 25 doctors can diagnose 75 patients in 5 hours. If five doctors leave the job, then how
many patients can be diagnosed in 6 hours?

Ans X 1.74
X 2.70
o 3.72
X 4.76

Question ID : 26433080185
Status : Answered
Chosen Option : 3
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Q.5 How many digits will be there after the decimal point in the product of 0.124 and Your Personal Exams Ghiide
1.02047?

Ans X 1.8
X 26
3.7
X 4.5

Question ID : 26433082354
Status : Answered
Chosen Option : 3

Q.6 A merchant offers 20% discount on the marked price. He offers a further discount of
10% on the reduced price on cash payments. What does a customer have to pay in
cash for an item whose marked price is ¥ 5000 ?

Ans 1. 73,600
X 2. 24,000
X 3. 4,800
X 4. 34,200

Question ID : 26433080223
Status : Answered
Chosen Option : 1

Q.7 P can do a piece of work in 15 days, while Q can do it in 10 days. If they work on
alternate days beginning with P, in how many days will the work be finished?

Ans # 1.12
X 2.14
X 31
X 4.13

Question ID : 26433075798
Status : Answered
Chosen Option : 1

Q.8 A cop sees a thief at a distance of 120 m. He starts chasing the thief who is running at
a speed of 6 m/sec. The cop is chasing him with a speed of 8 m/sec. Find the distance
covered by the thief before the cop catches him.

Ans X 1.320m
& 2.360m
X 3.240m
X 4.180m

Question ID : 26433075953
Status : Answered
Chosen Option : 2
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Ans o 1.6400
X 2.4000
X 3.5600
X 4.4800
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Q.9 A police officer follows a thief who is at a distance of 800 m from him. If they run at the
speeds of 8 km/h and 7 km/h, respectively, what distance (in metre) does the police
officer run to catch the thief?

Question ID : 26433075814
Status : Answered
Chosen Option : 1

Q.10

Ans X 1.2
X 2.4
X33
o 4.1

Which of the following options can be the value of k if e

+13><k—3><3)_1
(62— 7 x5+ k?)

Question ID : 26433082953
Status : Answered
Chosen Option : 4

volume of the sphere?
Ans X 1. 18T cubic units

5 2. 6411 cubic units
& 3. 361 cubic units
#< 4. 2411 cubic units

Q.11 The largest distance between any two points on a sphere is 6 units. What is the

Question ID : 26433071369
Status : Answered
Chosen Option : 3

new worker.
Ans  # 1.86 kg

X 2.84kg
% 3.82kg
X 4.68 kg

Q.12 The average weight of 10 workers travelling in a boat is increased by 2.8 kg when one
of the workers, who weighs 58 kg, is replaced by a new worker. Find the weight of the

Question ID : 26433081006

Chosen Option : 2

Status : Marked For Review
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Q.13 Ayear ago, Ram’s income was Rs.20000 per month and expenditure was Rs.16,000 per Your Personal Exams Gliide
month. Now if his income is increased by 10% and expenses increased by 15%. What
would be the net change in his savings per month?

Ans X 1. Decreased by Rs.500

X 2. Increased by Rs.500
" 3. Decreased by Rs.400
75 4. Increased by Rs.400

Question ID : 26433071304
Status : Answered
Chosen Option : 3

Q.14 %1,20,000 becomes %1,50,528 in two years at a certain rate of compound interest,
compounding annually in an investment scheme. In the same scheme, the sum of TP
is invested and it becomes ¥3,51,232 in three years. What is the value of P?

Ans X 1.3,00,000
X 2.2,25,000
% 3.2,75,000
& 4. 2,50,000

Question ID : 26433085460
Status : Answered
Chosen Option : 3

Q.15 Renu purchased two watches and each of them at the same price and sold one of
them at a profit of 20% and the other at a profit of 24.2%. If the difference between their
selling prices is ¥189, then what is the cost price of each of the watches?

Ans 1. 38123

X2 36,120
3 34,500
X 427,640

Question ID : 26433080019
Status : Answered
Chosen Option : 3

Q.16 In 2021, in a city 30% of the people were vaccinated by Covid 19 vaccinations in the
month of June, 50% of the remaining in July and 20% of the remaining in August. Still
84000 are left for vaccination. Find the total population of the city.(Everyone in the
town is eligible for the vaccination)

Ans X 1.3.10 lakh
& 2.4 1akh
& 3.3 lakh
X 4.3.5lakh

Question ID : 26433080158
Status : Answered
Chosen Option : 3
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can Q alone complete it?
Ans X 1.50

x 2.10
& 3.60
X 4.25

Q.17 P and Q together can complete a piece of work in 20 days. Q and R together can
complete it in 30 days. If P is twice as good a workman as R, then in how many days

Your Personal Exams G
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Question ID : 26433083052
Status : Answered
Chosen Option : 3

Ans X 1.16
X 2.28
o 3.20
X 4.24

Q.18 Calculate the fourth proportional of 6, 10 and 12.

Question ID : 26433075102
Status : Answered
Chosen Option : 3

Ans 4 1.1,15,368
7 2.1,16,568
< 3.1,16,368
< 4.1,15,568

Q.19 The present population of a town is 95,000. The population increases by 15% in the
first year, increases by 20% in the second year and decreases by 12% in the third year.
Find the population of the town after three years.

Question ID : 26433064990
Status : Answered
Chosen Option : 1

Ans X 1.3.34%
X 2.6.42%
X 3.2.63%
o 4.5.38%

Q.20 A cloth merchant bought 42 shirts, each at a price of ¥520. He sold each of them for
%548. Find his percentage profit on each shirt. (Rounded off to two decimal places)

Question ID : 26433080018
Status : Answered
Chosen Option : 4

Section : Part-D-English
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Ans

Q.1 Select the most appropriate ANTONYM of the word given in the brackets to fill in the

blank and complete the sentence.

The best way to motivate someone for their hard work is to

for their little accomplishments.
7 1. blame

75 2. censure
¥ 3. praise
25 4. control
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(criticise) them

Question ID : 26433089840
Status : Answered
Chosen Option : 3

Ans

Q.2 Select the most appropriate synonym for the underlined word in the given sentence.

When the owner stopped paying the workers, a lot of them went rogue.

o 1. ruffian
5 2. reconnoitre

< 3. reformer
75 4. naughty

Question ID : 26433072075
Status : Answered
Chosen Option : 1

Ans

Q.3 Select the most appropriate synonym of the given word.

Vacate
75 1. Fabricate

o 2. Depart
< 3. Remember
/5 4. Strain

Question ID : 26433073459
Status : Answered
Chosen Option : 2

Ans

Q.4 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.
What does kangaroos / eat? / They are / quite strong.

75 1. quite strong
X 2. They are
¥ 3. What does kangaroos

X 4. eat

Question ID : 264330108881
Status : Answered
Chosen Option : 3
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Q.5 Select the most appropriate synonym of the underlined word. Your Personal Exams Glide

| believe you are impartial while making decisions.
Ans X 1.Biased

& 2. Fair
< 3. Good
X 4. Offensive

Question ID : 26433088999
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The advocate who appeared to the accused was least hopeful of the case.
Ans X 1.appeared of the accused
X 2. appeared by the accused
« 3. appeared for the accused

< 4. appeared on the accused

Question ID : 264330103765
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate option to fill in the blank.

Though technology has advanced, environmental problems still have a
drastic on mankind.

Ans X 1.result
X 2. purpose
¥ 3. impact

75 4.assume

Question ID : 26433073409
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate option to fill in the blanks and make the sentence
meaningful.

She was for the wrong of the past.
Ans  # 1.fined; deeds

X 2. fined; duds
< 3.find; did
X 4. find; deeds

Question ID : 26433092096
Status : Answered
Chosen Option : 1
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Q.9 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

He is not a great leader but, he has the gift of gab.
Ans X 1.gift to gamble

¥ 2. gift of speaking
75 3. gift of sleeping
75 4. gift of a leader
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Question ID : 26433072238

Chosen Option : 2

Status : Answered

Q.10 Select the MISSPELT word.
Ans X 1.Preference

< 2. Avoidance
5 3. Correction
«* 4. Toleranse

Question ID : 26433086337

Chosen Option : 4

Status : Answered

Q.11 Select the most appropriate ANTONYM of the underlined word in the given sentence.
The causes of war in the country are very pathetic.

Ans X 1.occasions
75 2. creations
« 3. consequences

X 4. factors

Question ID : 26433055485

Chosen Option : 3

Status : Answered

Q.12 Select the most appropriate idiom that can substitute the underlined segment in the
given sentence.
He has got this notorious reputation of teasing and making_fun of people.

Ans X 1.cutting corners
« 2. pulling someone's leg

75 3. falling prey
< 4. pulling oneself together

Question ID : 264330100894

Chosen Option : 2

Status : Answered
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Q.13 Select the most appropriate ANTONYM of the given word.
Pure

Ans X 1. Virtuous

5 2. Foolish

¥ 3. Tainted

2 4. Humble

Question ID : 26433072202
Status : Answered
Chosen Option : 3

Q.14 Identify the MISSPELT word in the following sentence.

Since there are numerous topics of discusions with varying requirements, specific
disciplines and age range require distinct interactive learning strategies.

Ans X 1.interactive
X 2. requirements
< 3. disciplines

«# 4. discusions

Question ID : 26433073663
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

This trailer gives a sneak peak of the magnum opus that has been created by the
southern film industry.

Ans  # 1. gives a sneak peek of the magnum opus

X 2. give a sneak peak of the magnum opus
#< 3. gives a sneak peak on the magnum opus

< 4. No substitution

Question ID : 26433091766
Status : Answered
Chosen Option : 4
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Q.16
Ans

Comprehension: Your Personal Exams G

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Buck (1) over against the sled, (2) , sobbing for breath, helpless. This
was Spitz’s opportunity. He sprang upon Buck, and twice his teeth sank into his (3)

foe and ripped and tore the flesh to the bone. Then Francois’ lash (4) , and Buck
had the satisfaction of watching Spitz receive the worst whipping as yet (5) to any
of the team.

SubQuestion No : 16
Select the most appropriate option to fill in blank number 1.
< 1. staggered

« 2. pranced
& 3. strutted

< 4. swaggered

prepp

lide

Question ID : 26433065192
Status : Answered
Chosen Option : 1

Q.17
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Buck (1) over against the sled, (2) , sobbing for breath, helpless. This
was Spitz’s opportunity. He sprang upon Buck, and twice his teeth sank into his (3)

foe and ripped and tore the flesh to the bone. Then Francois’ lash (4) , and Buck
had the satisfaction of watching Spitz receive the worst whipping as yet (5) to any
of the team.

SubQuestion No : 17
Select the most appropriate option to fill in blank number 2.

5 1. exterminated
" 2. exhausted
< 3. excited

< 4. eloquent

Question ID : 26433065193
Status : Answered
Chosen Option : 2
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Q.18
Ans

Comprehension: Your Personal Exams G

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Buck (1) over against the sled, (2) , sobbing for breath, helpless. This
was Spitz’s opportunity. He sprang upon Buck, and twice his teeth sank into his (3)

foe and ripped and tore the flesh to the bone. Then Francois’ lash (4) , and Buck
had the satisfaction of watching Spitz receive the worst whipping as yet (5) to any
of the team.

SubQuestion No : 18

Select the most appropriate option to fill in blank number 3.

& 1. unresisting
X 2. unsatiable
/5 3. undetermined

#< 4. unquenchable
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Question ID : 26433065194
Status : Answered
Chosen Option : 1

Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Buck (1) over against the sled, (2) , sobbing for breath, helpless. This
was Spitz’s opportunity. He sprang upon Buck, and twice his teeth sank into his (3)

foe and ripped and tore the flesh to the bone. Then Francois’ lash (4) , and Buck
had the satisfaction of watching Spitz receive the worst whipping as yet (5) to any
of the team.

SubQuestion No : 19

Q.19 Select the most appropriate option to fill in blank number 4.

5 1. defended
X 2. deteriorated
< 3. demeaned
o 4. descended

Question ID : 26433065195
Status : Answered
Chosen Option : 4
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Ans

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Buck (1) over against the sled, (2) , sobbing for breath, helpless. This
was Spitz’s opportunity. He sprang upon Buck, and twice his teeth sank into his (3)

foe and ripped and tore the flesh to the bone. Then Francois’ lash (4) , and Buck
had the satisfaction of watching Spitz receive the worst whipping as yet (5) to any
of the team.

SubQuestion No : 20

Q.20 Select the most appropriate option to fill in blank number 5.

< 1. advertised
75 2. automated
¥ 3. administered
X 4. adjugated
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Question ID : 26433065196
Status : Answered
Chosen Option : 4

Section : Part-D-Hindi

Q1

Ans

iy a1 - ug 9dt aseT B R & fre g1 g1 FPaffee el % @ 53 aen ¥ g
P 1 TP I I 919 GHTT?

X 1. TSP 8 fored H A g1 5 |

o 2. 395 A H el g1 5|

X 3. 98 a5 ¢ ford e g
X 4. 98 ISP § Forad # T g 8

Question ID : 26433062439
Status : Not Answered
Chosen Option : --

Q.2

Ans

Y G 9 9 g I & fog 3 @ 9l e 71 R
X 1. 3GF

X 2. 3R

o 3. 3IQd

X 4. 3R

Question ID : 26433070140
Status : Not Answered
Chosen Option : --

Q.3

Ans

el # faT e f5a W & 91 PR fUg o183 872
X 1. %0

o 2. 99D
X 3.wa
X 4. 7sdl

Question ID : 26433085035
Status : Not Answered
Chosen Option : --
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Q.4 T e & Forg guTTf Treg 1Y 2- Your Personal Exams Gl
Ans o 1. 39

X 2.7

X 3.3

X 4. fed

Question ID : 26433085083
Status : Not Answered
Chosen Option : --

Q5 i Wod W F g srawa 31 59 ared & 5 we § ad-ha oS 82
Ans 1 W
X 2.
X 3. 9gfud

X 4. ATD

Question ID : 26433085067
Status : Not Answered

Chosen Option : --

Q.6 aTol Bt g MUTHS 31" $H I | ¥WiTPd g & VIF W 75 & § o149 91 A

I gRI?

Ans o 1.39q
X 2.9@g
X 3. Frmn
X 4.9

Question ID : 26433085058
Status : Not Answered
Chosen Option : --
Q.7 “3[T-3[T

ﬁaﬁﬁmmimmmg?ﬁﬁﬁmmaﬁqﬁaﬁml
Ans X 1. THBCR
o 2. a1
X 3. 9@
X 4. 9feq

Question ID : 26433069691
Status : Not Answered
Chosen Option : --
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Q8 frmfafea & 3 vdvm =t afs goa area &1 994 Fifvmw) Your Personal Exams Glide
Ans X 1.7 ITHT MR B
X 2. @ s ar g
X 3. gaR Af-farer s firm §
o 4. TR T ord Tfda g1

Question ID : 26433063001
Status : Not Answered
Chosen Option : --

Q9 R F 3 ¥ AT & Y v g &l
Ans X 1. UgqdH

X 2. RUSHR

X 3. Tyt

o 4. TG

Question ID : 26433062940
Status : Not Answered
Chosen Option : --

Q.10 9 § § 1991 Ak ‘TETS’ Weg HT YUIQT Weg 181 62
Ans X 1. YR

X 2.udd

o 3. 30

X 4 ff

Question ID : 26433067079
Status : Not Answered
Chosen Option : --

Q.1 T g ¥ Raa W & 998 Suge GeTavT §1 g2
Rrarsht 7 siee qr

Ans X 1. HWR IS I
o 2. FRAS
X 3. IR ReH
X 4 FREYE

Question ID : 26433066728
Status : Not Answered
Chosen Option : --
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Q.12 g areg B Yaifrd ST & T TR Uad Iugad wey Si=-a1 ghme Your Personal Exams Gliide
T 3= ATaT-fiar S Yy s Al

Ans X 1 feeal
o 2. 39a
X 3. B
X 4. 9a-da

Question ID : 26433072586
Status : Not Answered
Chosen Option : --

Q.13 T T F ¥ | 91 31" TH I F b g F T S 72
Ans g1 T

X273

X 3.

X 4.

Question ID : 26433085064
Status : Not Answered
Chosen Option : --

Q.14 T Pt I F JFIAR FaT WIS YU 3 I’ 59 aTed § Yo "afe Weg o1 3rdf a1 82
Ans X 1. 3{T9RgdHdl d HH

o 2. SUgE

X 3. 3Ma=THal ¥ HfU®H

X 4. 3MaTH

Question ID : 26433080918
Status : Not Answered
Chosen Option : --

Q.15 o o A fpa are | e & Tt sMaTdf 2Ieg &1 WAt gen 82
Ans X 1. TA I e BT UYH 3 UG fem|

X 2. 3% & Trend ¥ gt i A fasan

o 3. 39 uew & gRareh aifie 31

X 4. TRR & Tt i Iy g1

Question ID : 26433085141
Status : Not Answered
Chosen Option : --
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Q.16

Ans

Comprehension: Your Personal Exams G

Fufaed T § $© wsal & el foar mar 81 3T e st ot weraar 3 Rad it @t gfd
FIT | T BT & oIt Gad Iugad fdewed &1 9a4 Siforg|

1. DI WIS & Y UH T 7 B BT 83 | e SATHT 30 2. B fergas G-
o, Forad a8 G gl S Al | STEH! o forgT SRH 3 W & 3. DT 3RY g3
aﬁ?@ﬁ%ﬁﬂﬂgﬁ%ﬁ%ﬁﬂﬁﬂﬁlﬁ%ﬁﬂ. T O g5 | 39 UHR Th
UG 5. |

SubQuestion No : 16
fraa = 1 91 gfd & forg T Suged fawew &1 9= #)
X 1. dpp!
o 2. &R
< 3.Wsq
X 4.9c

prepp

lide

Question ID : 264330110945
Status : Not Answered
Chosen Option : --

Q.17

Ans

Comprehension:

Frofefed me § g gl &1 ger i3 ma 81 fau MU fawent @t weradr 9 Rad vt @t g
FINT| Y HBAT & folT Fad Iugad fdaved &1 Tg- Pifor|

1. DI WIS & Y UH T 7 B BT 83 | 3Md SATHT 30 2. o ferga -
@, oY a8 9T gl o AT STEHT o FeraHT SiRY 33 4 & 3. BT 3RY gar
Gﬁ?@ﬁ@ﬂ%ﬁﬂ?%ﬁﬂéﬂﬁﬂﬁl%ﬁ%@ﬂ4. T o9 83 | 39 UPR Th
qugnTeis el

SubQuestion No : 17
fraa T 2 91 gfd & R e Iuged fawer &1 99+ 9
X 1. GG
X 2. S-S
X 3. ygrs-ferarg
o 4. fBaa-frare

Question ID : 264330110946
Status : Not Answered
Chosen Option : --
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Q.18

Ans

Comprehension: Your Personal Exams G

Fufaed o ¥ $2 wsal & gel foar mar 81 3T e st ot weraar & Rad it @t gfd
PO | TAP HAT & oL T IuGerd fadbed b1 99 Bifor|

1. DI WIS & Y UH T 7 B BT §3 | e SATHT 30 2. B fergas -
A, FIR 98 9T g1 O T ST & foraT $RY R Y 81 3. BT 3RY garl
aﬁ?@%ﬁaﬁ%ﬁaﬂgﬁmwﬁaﬁaﬁ@@ﬂ%mm. T O 3| 39 UHR Th
qT GBI 5. |

SubQuestion No : 18
fraa w1 3 91 gfd & forg T Sugad fawew &1 9= #)
X 1. iUt
X 2. W13t
X 3. 9%pd
o 4. 3T
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Question ID : 264330110947
Status : Not Answered
Chosen Option : --

Q.19

Ans

Comprehension:

e e ¥ $© Weal & ger fear mar 31 o e faw et @t weran  Rad Rl @ gfd
FINT| YA HBAT & foIT Gad Iugad fdawed &1 9g- Hifor|

1. DI WIS & Y TH T 7 B BT g3 | 3 SATHT 30 2. D forga G-
@, oY a8 9T gl o AT SHTEHT o FeraT SR 33 4 & 3. BT 3RY gar
ﬁwﬁ%ﬁw@gﬁaﬁ%w%ﬁaﬁaxﬁ%mm. T o9 83 | 39 UPR Th
qugnTeis sl

SubQuestion No : 19
fraa T 4 91 gfd & 1w e Iuged fawer &1 79+ 9
X 1. T 3t
X 2. uad &
X 3. 3emgE
o 4. fapra ot

Question ID : 264330110948
Status : Not Answered
Chosen Option : --
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Comprehension:

Fufafed T ¥ $2 wsal & gel foar mar 81 3T e st ot weraar & Rad it @t gfd
FIT | T B & oIt Ga Iugad fdewed &1 9a4 Siforg|

1. DI WIS & 1Y TH T 7T B BT 83| e SATHT 30 2. B fergax G-
o, Forad a8 G gl S Al | STEH! o fereT SRH 3 H & 3. DT 3RY ga
ﬁ@ﬁ%%?%%@@lﬁ%ﬂUA T O 31 39 UBR TH
B EWl

SubQuestion No : 20

Q.20 fYad R 5 B gfd & 1T w9 Uy fawey 1 999 ¥

o 1. 3T
X 2. 3(d
X 3. 3aRw
X 4.3y
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Question ID : 264330110949

Chosen Option : --

Status : Not Answered




	6 Feb 11AM EN [@qmaths Telegram Channel]

